= BARRACUDA

ASSEMBLING INSTRUCTION LEGEND
1. LICENCE PLATE 4. SPECIFIC THICKNESS Ho 7. NUT 26
PORTATARGA SPESSORE SPECIFICO Ho DADO 26
PLACA ESPACIADOR H9 TUERCA @6
LICENCE PLATE NUMMERNSCHILD ABSTANDSHALTER Ho MUTTER 26
PLAQUE D'IMMATRICULATION ESPACEUR H9 ECROU @6
2. ALLEN SCREW M6X30 5. SPECIFIC THICKNESS H5
TS6104-13 VITE A BRUGOLA M6X30 SPESSORE SPECIFICO H5
TORNILLO ALLEN M6X30 ESPACIADOR H5
INBUSSCHRAUBE M6X30 ABSTANDSHALTER H5
VIS ALLEN M6X30 ESPACEUR H5
WWW.BARRACUDAMOTO.COM 3. ALLEN SCREW M6X20 6. WASHER @6
VITE A BRUGOLA M6X20 RONDELLA 26
TORNILLO ALLEN M6X20 ARANDELAS @6
INBUSSCHRAUBE M6X20 SCHEIBE @6

VIS ALLEN M6X20 RONDELLE @6




